BTV CAEREHERRE (k2 55EK)

4A 54 64 7H 8A 9A 104 114 12A4 1A 2A 3A
MR Eﬁjﬁlﬁﬁ 3 ARMD 4 ARMD 5 ARMD 6 ARMND 7 AR»D 8 ARMD 9 ARMB L0AR» B 11LAER?B 12HR» D 1 AER»B 2AERND qz ﬁj
4RET 5 AKET 6 HEET TAXRET 8 HEKET IAXRET 10HkKET LLARET 12AKET LARET 2AXET 3HERET
BEETIZWEAR 1.7 2.4 2.2 1.3 1.0 2.8 1.1 2.0 1.9 1.2 1.9 2.4 1.83
VB Y) S B 0.4 1.5 0.9 0.1 0.2 0.8 0.5 0.7 0.7 0.6 0.4 1.1 0. 66
BBTE TR R 2 1.3 0.9 1.3 1.2 0.8 2.0 0.6 1.3 1.2 0.6 1.5 1.3 1.17
P H 5.9 5.8 6.2 4.7 5.1 5.8 6.0 6.2 6.1 5.8 6.0 5.7 5.78
S 12,000 3, 100 16, 000 9, 400 11,000 | 23,000 | 25,000 4, 200 6, 700 3, 100 12, 000 4, 800 10, 858
BEETIZWEAR 2.0 2.4 2.0 1.1 0.7 1.9 1.1 1.0 1.4 1.0 2.0 2.6 1. 60
wAE A FRVEY)E & 0.8 1.7 0.9 0.2 0.1 0.4 0.5 0.3 0.6 0.5 0.5 1.2 0. 64
o R R 1.2 0.7 1.1 0.9 0.6 1.5 0.6 0.7 0.8 0.5 1.5 1.4 0.96
P H 5.6 5.7 6.0 4.8 4.9 5.7 6.0 6.0 5.9 5.8 5.9 5.7 5. 67
W & 11, 000 3, 300 16, 000 8, 900 12,000 | 24,000 | 25,000 4, 800 7, 300 3, 300 13, 000 5, 300 11, 158
MR FIZVWE AR 4.0 3.2 2.6 2.2 2.3 4.8 2.3 2.2 2.1 1.3 1.3 4.1 2.70
TYRFRIEY)E B 1.6 1.8 0.8 0.6 0.6 1.3 0.5 0.7 0.9 0.7 0.3 1.9 0.98
1;5%'%,%]‘ IRV 2.4 1.4 1.8 1.6 1.7 3.5 1.8 1.5 1.2 0.6 1.0 2.2 1.73
P H 6.0 6.3 6.5 5.9 6.0 6.0 6.0 6.3 6.0 6.0 6.1 6.1 6. 10
W & 13, 000 3, 700 19, 000 9, 300 12,000 | 24,000 | 25,000 4, 500 7, 500 3, 300 9, 800 5, 600 11, 392
MR FIZVWE AR 2.3 2.5 1.2 0.9 0.8 1.9 1.8 1.2 1.2 1.3 0.8 2.8 1.56
RYAFRIEY)E B 1.2 1.6 0.7 0.5 0.2 0.5 0.5 0.2 0.5 0.8 0.4 1.2 0. 69
%5;4\ TAFRIEY)VE B 1.1 0.9 0.5 0.4 0.6 1.4 1.3 1.0 0.7 0.5 0.4 1.6 0.87
P H 5.5 5.6 5.9 4.8 4.9 5.5 5.8 6.1 5.8 6.0 5.8 5.5 5. 60
W & 12,000 3, 500 18, 000 9, 600 11,000 | 24,000 | 25,000 4,700 7,100 3, 300 9, 900 5, 400 11,125
B FIZWEAR 2.5 2.6 2.0 1.4 1.2 2.9 1.6 1.6 1.7 1.2 1.5 3.0 1.92
RYAFRIEY)VE B 1.0 1.7 0.8 0.4 0.3 0.8 0.5 0.5 0.7 0.7 0.4 1.4 0. 74
FHE TR FRYEY)E R 1.5 1.0 1.2 1.0 0.9 2.1 1.1 1.1 1.0 0.6 1.1 1.6 1.18
P H 5.8 5.9 6.2 5.1 5.2 5.8 6.0 6.2 6.0 5.9 6.0 5.8 5.79
W & 12, 000 3, 400 17, 250 9, 300 11,500 | 23,750 | 25,000 4, 550 7,150 3, 250 11,175 5,275 11,133
HEFE TRY Yy MU BRI E = TRRME @ 0.1
BAL: t / km / 30H




